EECS 16A , Medule 2, Lectuvedt

Tooi
'O-T':?:A'ch Wy 2D vesistiue ouchsoresn
« BEquivience

» Con fvollecl Sowrces

'Smpor\)os:-l-im




20 Resishve TouchSerean

1Y

A
>
L




2.4.%

' Equavalence :
TV chavacteristics




e
Lest — IR\ Bl —R2
I. - \/-te,s{— + \I{':e,sf_
best Rl Kz_

U—;: T Ry 22 Req
+ R
\Upest = K‘P- é:
Tyes | \
R 2} W
[Reﬂ: R,+ Ro_
— R Z?-A
Q\IRZ ‘E‘.,.zz










2.4
Contvollecl Sources

Voud .
\u)l(’ ° Av: lO G’&Aﬁ .
loV {OX
M Vin
e — — )

l »
_\iquc Contvolled VOHIQ(_ Sowvee
VC VS

C_S

n—————




24.¢




2.49

)2ewo ol Hhe Sources except one,
ind Hev Solve
7) Repeat for each Souwnee

3) Sum the veswlis






24 lo










